CEE 451G
Homework Assignment 5
a.  Solve the following problem using the Newton-Raphson method:
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Do this in two ways: i) write code to solve the problem (e.g. VBA) and ii) check your solution directly with a spreadsheet calculation.  Implement your calculation for the following values of r: 1, 2, 4.8.   Provide printouts of your code and your spreadsheet calculation as well as your answers.

b.  Solve the following ordinary differential equations from x = 0 to x = 5 using the Euler step method:
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Do this in two ways: i) write code to solve the problem (e.g. VBA) and ii) check your solution directly with a spreadsheet calculation.  Provide printouts of your code and your spreadsheet calculation as well as your answers.  Make sure that your step length (x is small enough.
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